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Seat No.

Subject Code: C320702 Date: 03/06/2016

Enrolment No.:

Gujarat

Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Name: ADVANCED COMPUTER PROGRAMMING
Time: 10.30 AMTO 12:00 PM  Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
NO. | Question Text and Option. Us sl ([Ascul.
P

The smallest element of array is called

1. |[A. |Lower Bound B. |Upper bound
C. |Range D. [None of the Above
Array ol Wl oltoll Ao A ... ... 5@ ol

1. [A. [Lower Bound B. |Upper bound
C. |Range D. (None of the Above
What is the maximum number of an array have in C?

2. AL |2 B. |8
C. |20 D. | Theoretically no limit

. 1 1 N . N 7

Cap AT gy dimension o0 sl By g Yecll uvets L 88 o’

A2 B. |3
C. |20 D. | Theoretically no limit
Array is preferred to be used to hold?

3. |A. |Constants B. |Data of same type
C. |Data of different type D. |None of these
Array A 9 gold U sed R Burla 82

3. [A. [Constants B. |[Data of same type
C. |Data of different type D. |None of these
Arrayisa......... data structure

4. |A. |Linear B. |Non Linear
C. |Complex D. [None of these
Array ol & ... YS§Rel ol $& ol WEUR B,

% [A. [Linear B. |Non Linear
C. |Complex D. [None of these
The index value of any array starts from?

5. AL 1 B. |0
cC. |1 D. [None of these

. [Amay g index go ais ol a3 alal B.
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A |1 B. |0
C. |1 D. [None of these

What will happen if in a C program you assign a value to an array element whose
subscript exceeds the size of array?

6. |A. |The element will be set to O B. The compiler would report an error.
C.  |The program may crash if some D. |The array size would appropriately
important data gets overwritten. grow

C Qo atéon 28 o 5y Aellozal Y2UE 3SSIZD gy s BuD ¥ Roll

subscript array ofl e ol Bell a2, dl o gold 4d?

-]

> A. | The element will be set to 0 B. | The compiler would report an error.
C. | The program may crash if some D. | The array size would appropriately
important data gets overwritten. grow
What does the following declaration mean?
int (¥ptr)[10];
7. | A. | ptris array of pointers to 10 B. | ptris a pointer to an array of 10
integers integers
C. | ptris an array of 10 integers D. | ptris an pointer to array
o{lAoll declaration oll A U & Gold YD
int (*ptr)[10];
N ptr is array of pointers to 10 B. | ptris a pointer to an array of 10
integers integers
C. | ptris an array of 10 integers D. | ptris an pointer to array
In C, if you pass an array as an argument to a function, what actually gets passed?
8 | A Value of elements in array B. First element of the array
C. Base address of the array D. | Address of the last element of array

C HL ol ¥R array ol & g§ol5ote(l argument 13 BURL ol B D @R

¢ | HRUR 2 gold W &l

A Value of elements in array B. First element of the array
C. Base address of the array D. | Address of the last element of array
An array occupies.....
9. | A. | Random space in memory B. | A contiguous block in memory
C. | Sequential but random block. D. | None of the above.
ATEY GARD B...
€. A. | Random space in memory B. | A contiguous block in memory
C. | Sequential but random block. D. | None of the above.
What does this declaration mean? int (*ptr)[10];
0. A. Ptr is a pointer to an array of 10 B. | ptr is array of pointers to 10 integers
Integers
C. | ptris an array of 10 integers D. | ptr is an pointer to array

L declaration oll AU AU A gold AA? int (*ptr)[10];

-]

0. | A. | ptr is a pointer to an array of 10 B. | ptr is array of pointers to 10 integers
integers
C. | ptris an array of 10 integers D. | ptr is an pointer to array
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What is the meaning of int arr[20];
" A. | Integer array of size 20 B. | Array of size 20
C. | Array of size 20 that can have D. | None of these
integer address
int arr[20]; °'D. W 8l
o gold YWD
1.
A. | Integer array of size 20 B. | Array of size 20
C. | Array of size 20 that can have D. | None of these
integer address
Which of the following correct declares an array?
12. | A. | int array[10]; B. | int array;
C. array array [10]; D. | array {10},
o{lull olul <larmay o Golo declaration gy ?
Q2. | 5% gold AU golod
A, int array|[10]; B. | int array;
C. array array [10]; D. | array {10};
What is the index number of the last element of an array with 9 element?
13 A, |9 B. 8
C. |0 D. | Programmer-
defined
9 element oll array oll BCAL element oll index A ol
8a?
3.
A, |9 B. 8
C. |0 D. | Programmer-
defined
If pointer to an array is passed as an argument to a function, what actually gets
passed?
14 A value of element in array B. | first element of the
array
C. Base address of the array D. | Address of the last element of
array
LR POMMErIOM ATRY oy 3 gjsqotof] AEUMENL (Y R 1 BU D
3l -:_:--:_:-L-:f:-%L &ﬂ? U{%U{E
1¥%.
ul
A. B.
C. D.
If you don’t initialize a static array, what would be the elements set to?
A 0 B. | an undetermined
15. value
C. a floating point number D. | the character constant
40?

http://www.gujaratstudybm



http://www.gujaratstudy.com

o static array o\ initialize ot SRHL ERUD dl elements ofl [\C'I 3 g

ol oolo {:%L‘?E':-
W A 0 B. | an undetermined
value
C. a floating point number D. | the character constant
60
What is NULL pointer?
16, A. | Denote pointer to 0 B. | Denote integer pointer to 0
C. | Denote NULL pointer is the integer | D. | None
0
NULL pointer 2 ol 8?
q5. |A. | Denote pointer to 0 B. |Denote integer pointer to 0
C. | Denote NULL pointer is the integer | D. | None
0
What is wild pointer?
17. | A. | Pointer which is wild in nature B. |Pointer which has no value.
C. | Pointer which is not initialized D. |None
Wild pointer 9L oL 8?
9. "A" [Pointer which is wild in nature B. |Pointer which has no value.
C. | Pointer which is not initialized D. |None
Why can’t I perform arithmetic on void * pointer?
A. | Compiler does not know the size of | B. | Compiler does not allow Void *
18. object
C. | Compiler don’t have value to D. |None
initialized

void * pointer UR arithmetic perform ol $31 ASUBolel gold o ¢ 51\ A

. A. | Compiler does not know the size of | B. | Compiler does not allow Void *

object
C. | Compiler don’t have value to D. |None
initialized
What is (void ¥)0?
19. | A. | Representation of NULL pointer |B. |Representation of void pointer
C. | Error D. |None of above
(void*)0 2 uls 87
€. Al Representation of NULL pointer B. | Representation of void pointer
C. | Error D. |None of above
Can you combine the following two statements into one? char
£
P
20). p= (char*)malloc(100};
A.  char p = *malloc(100); B. [char *p = (char*)malloc(100};
C.  char *p = (char) malloc(100}; D. [char*p = (char*)}(malloc)(100);
ol Aol A statements oL & WASHL <l M ol SR sAU old statement GLol?
?0. char *p;

p= (char*)malloc(100Y},
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AL char p = *malloc(100); B. [char *p = (char*)malloc(100};
C.  char *p = (char) malloc(100); D.  [char*p = (char*)}(malloc)(100);
In which header file is the NULL macro defined?
21. |A.  stdio.h B. stddef.h
C.  tdio.h and stddef.h D. |math.h
5t header file Hl ©lENULL macro clluallellel $3¢L 82
1 AT Ftdioh B.  [stddefh
C.  stdio.h and stddef.h D. |math.h
if a variable is a pointer to a structure, then which of the following operator is used to
5y [BCOESS data members of the structure through the pointer variable?
" |A. | (dot operator) B. &
c. D. >
Pl S8 variable ¥ pointer to a structure 8, cll data membersal access SRl H(Z
2o plAUU] s operator [Fug?
A. | ( dot operator) B. &
c. [* D. >
A pointer is....
A.  |A keyword used to create variables [B. |A variable that stores address of an
23. instruction
C.  |A variable that stores address of D. |All of the above
other variable
Pointer <\ ..... 8.
A.  |A keyword used to create variables [B.  |A variable that stores address of an
23. instruction
C.  |A variable that stores address of D. |All of the above
other variable
The operator used to get value at address stored in a pointer variable is
24, A, ¥ B. &
C. && D. ||
pointer variable ML ¢ U2l §&6cl 5| value a AA[EoL W2 ... operator (BURL2L.
R¥. A R B. &
C. k& D. ||
What will happen to this code ?
int a,b, *p, *q; p=&a;
25. q=&b; p=q;
A. |isassignedtoa B. |pnow pointstob
C. passignedtob D. g now points to a
UL code Yl 2 ol AW D 2
int a,b, *p, *q; p=&a;
Y. q:&b;
pP=q;
A.  |isassignedtoa B. pnow pointsto b
C. fassignedtob D. |q now points to a
26. [Explain the statement : int (*fp)(char*}
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A.  |pointer to a pointer B. |pointer to an array of chars
C.  pointer to function taking a D. [function taking a char* argument and
char® arguments and return an int returning a pointer to int.
Statement : int (*fp)(char*) AHs (3
ag A.  pointer to a pointer B. |pointer to an array of chars
" IC.  |pointer to function taking a D. [function taking a char* argument and
char* arguments and return an int returning a pointer to int.
'What is size of generic pointer in c?
27. A. D B. |1
c. p D. [NULL
C HL :lérgeneric pointer ol size o gl &2 7
WA P B. |1
C. 2 D. |INULL
What is the similarity between a structure, union and enumeration?
A.  |All of them let you define new B. |All of them let you define new data
28. values types
C.  |All of them let you define new D. |All of them let you define new
pointers structures
Structure, union and enumeration HU ol 9 Gold AHleldl 87
A.  |All of them let you define new B. |All of them let you define new data
RC. values types
C.  |All of them let you define new D. |All of them let you define new
pointers structures
Correct syntax to pass a Function Pointer as an argament
29 A.  void pass(int (*fptr)(int, float, B. [void pass(*fptr(int, float, char)){ }
' char))}{ }
C. void pass(int (*fptr)}{} D. [void pass(*fptr){}
Function Pointer @\ argument d3l% pass IETRITEL | syntax 2 oL 82
2¢. A, |void pass(int (*fptr)(int, float, B. [void pass(*fptr(int, float, char)){ }
char)){}
C.  void pass(int (*fptr)}{ } D.  |void pass(*fptr}{ }
Use of functions
A.  |helps to avoid repeating a set of B. | Enhances the logical clarity of the
30. statements many times program
C.  |help to avoid repeated coding across D. | All of above
programs
sis9letoll Guallotel
A.  |helps to avoid repeating a set of B. | Enhances the logical clarity of the
30. statements many times program
C.  help to avoid repeated coding across D. | All of above
programs
11 if the two strings are identical the stremp() function returns.
A R B. |1
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c. P D. [Ves

el ol oL AsAHlet sl cll stremp() S50t A ol Jleot U 572
3%. W h B. |1

C. 0 D. [Yes
32. [The library function used to find the last occurrence of a character in a string is

A.  Strostr() B.  [Strstr()

C. [Laststr() D.  [Strchr()

RUUEL character oll 8CA occurrence AL M@ s gold library sisalot [EuRla?
3% A Strastr() B.  [Strstr()

C.  [Laststr() D. [Strchr()

Any C program

13 A.  [Must contain at least one function. |[B. |[Need not contain any function.

C.  [None of the above. D>. [Needs input data.
518 Ul ¢ Ylaun...

33. |A. Must contain at least one function. [B. |[Need not contain any function.

C.  [None of the above. D>. [Needs input data.

'When a function is recursively called all the automatic variables are stored in a......
34, |A.  |Linked list B. [Queue

C. |Amay D. [Stack

wellR gislotol O UG call SR old BU D U automatic B3N w50

3y, [PLEIR e

A.  [Linked list B. Queue
C. Array D. [Stack
'Which of the following function calculates the square of “X’° in C?
35. [A.  JPow(2.X) B. [Pow(X.2)
C. [Sqgr(X) D. [Power(2,X)
llAsiuais] s gold sisalel ¢ UL aldxall Fala agl?
3L AT Pow(2X) B. [Pow(X.2)
C. Sqr(X) D. [Power(2,X)
[Functions have........
36. |A.  |Local scope B. [Block scope
C.  [File scope D. [No scope at all
sisotol O oo, slaL.
3S. [A7 TLocal scope B. [Block scope
C.  [File scope D. [No scope at all
The function scanf() retumns......
37, A, P B. |ASCIHI value of the input read.
C.  [The number of successful read input [D.  [The actual values read for each
values. argument.
39. Poanf gicoiot g gold e o 53 2
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A, P B. |ASCII value of the input read.
C.  [The number of successful read input [D.  [The actual values read for each
values. argument.
The Recursive function are executed in a
38. |A.  [Parallel order B. [First in First out
C.  |Last in Last out D. |[Random order
RsAUE sisaot ... HL old AlsAlsalg a .
3¢C. A B.
C. D.
'What is Fuction?
19 A.  [Fanction is block of code that B. |[Function is a block of statements that
' performs a specific task. perform some specific task.
C.  [It has a name and it is reusable. D. |All of above.
3¢. [slsalel o gold 87
A.  [Function is block of code that B. [Function is a block of statements that
performs a specific task. perform some specific task.
C.  [it has a name and it is reusable. D. |All of above.
The keyword used to transfer control from a function back to the calling function is
40. |A. [Return B. |Goto
C. Go back D. [Switch
. . i?
calling function 415 163 seflet ets @ sal AU Bua B’
80. A.  [Return B. |Goto
C. |Goback D. [Switch
'What will be the output of the following program code?
main(}{ int i= abc(10) Printf(*%d”,--i); }
int abc(int 1)
41. { return(i++) }
A. |10 B. |1
c. P D. |None of these
el Aatl Ylourall uBaug o gold §4?
main(){ int i= abe(10) Printf(*“%d”,--i);
}
¥4. int abc(int 1)
{ return(i++) }
A. |10 B. |1
c. P D. [None of these
What will be the output of the following program code? main()
{ static int var=5;
printf(*%d”, var--);
if (var)
2 main(); )
A. 55555 B. 54321
C.  [Infinite loop D. |None of these
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el Astl Yourall uBaug o gold 97
main(}
{ static int var=5;
%32, printf(*%d”, var--);
if (var)
main(); }
A. 55555 B. 54321
C.  |Infinite loop D. |None of these
Pick the correct statements
i, The body of a function should have only one return statement.
#l, The body of a function may have many return statements.
11, A function can return only one value to the calling environment.
43. IV, If return statement is omitted then the functions does its job but returns no value
to the calling environments
A. &I B. &I
C. [&lil D. [H&IV
AR oLy uuel s2A:
I, The body of a function should have only one return statement.
¥3. | 1L The body of a function may have many return statements.
HI, A function can return only one value to the calling environment.
IV, If return statement is omitted then the functions does its job but returns no value to|
the calling environments
A &I B. &I
C. [&lil D. [H&IV
The Default parameter passing mechani sm is
44. |A.  (all by value B. (call by reference
C.  fall by value result D.  mnone of these
De  ganlt u? otfle’ wrllor {ldellos 5 ol 87
vy, A.  call by value B. [call by reference
C.  fall by value result D.  mone of these
A p reprocessor command
45, A.  [Need not start on a new line B. [Need not start on the first column
C.  [Has # as the first character D. |Comes before the first executable
statement,
Yy SlAUR §MLoS...
¥\W. |A. |Need not start on a new line B. |[Need not start on the first column
C.  |Has # as the first character D. |Comes before the first execuatable
statement.
C pr e-processor
46 A.  [Takes care of conditional B. [Takes cares of macros
compilation.
C.  [Takes care of include files. D. |All of the above.
Cy AYAAR.....
¥S. IA. Takes care of conditional B. [Takes cares of macros
compilation.
C.  [Takes care of include files. D. |All of the above.
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Whi ch of the following are correct prep rocessor directives in ¢?
1. #ifdef
2. #if
47, 3. #elif
4. #undef
A, 1,2 B. 4
cC. |24 D. [1,2,3.4
ly SlU@ R cetdallett UEL AHA oLl <l s gold WA gols B2
L atd ofludl ot
" % #ifdef #if
. #elif
4. #undef
A, 1,2 B. 4
cC. |1.24 D. |1,2,3,4
Cho ose the correct statement.
I.  The scope of a macro defin _ . .
T.  The scope of a macro defin end ition need not be the entire program. ition
of the file.extends from the point of definition to the
48. OI. new line is a macro definition delimiter.
IV. A macro definition may gobeyond a line.
A, [&n B. [1&IN
C. LI&I D. [LILII &IV.
LA gold Bols udel 52,
1. The scope of a macro definition need not be the entire program.
¥c. II. The scope of a macro definition extends from the point of definition to the
end of the file.
HI. new line is a macro definition delimiter.
IV. A macro definition may go beyond a line.
A, &l B. [T &M
C. I, 1 & 11T D. [LILIT &IV
In w hich stage the execution of code #i nclude <stdio.h> gets by the contents of the
4 file stdio.h
" |A.  |During editing. B. [During linking.
C. [During execution. D. [During preprocessing.
52l ¥ UR #include <stdioh> sloet  stdioh o3 5 L3 a8 B3 R7
8¢ A During editing. B. During linking,
C. [During execution. D. [During preprocessing.
For accessing a structure elements usin g a pointer , you must use ?
50. |A.  |Pointer operator(&) B.  [Dot operator(.)
C.  [Pointer operator(*) D. |Arrow operator(->)
25 URell AAlHAD & of & UWdeR a2l sRL UER ... Botura gold olsd?
Yo, Gu
A.  [Pointer operator(&) B. [Dot operator(.)
C. Pointer operator(*) D.  |Arrow operator(->)
51 Whi ch of the following is a collection o f different data types?
T AL IString [B |Structure
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C. [Char D.  |All of these
ellA otirtal Al eLgold  oEl-9El — 28U oll Ydlle B?
W, YslRetl 32l
A.  String B. [Structure
C. [(Char D. |All of these
Whi ch of the following statement is true.
A.  [Remember to place a semicolon at [B.  [it is an error to compare two structure
52. the end of definition of structure and variable
unions
C. Both(A) & (B) D. [None of these.
e(lA ottt ol s old Baosa
AU ol B?
UR. |A.  Remember to place a semicolon at [B. it is an error to compare two structure
the end of definition of structure and variable
unions
C. Both (A) & (B) D. [None of these.
If in itialization is a part of structure the n storage class can be
53. |A.  |Automatic B. [Register
C.  [Static D. |anything
Pgl | nitialization R5UReAL @ULoL A4l alal cll R0 sl ... laL.
43 A.  |Automatic B. [Register
C.  Static D. |anything
A st ructure can be member of another s  tructure
54. |A. (s called nesting of structure B. jis called structure within structure.
C. Both(A) & (B) D. [None of these.
s w@sUA oflal wWsABAU HYD olRAY 8la dl...
wy. R
A.  lis called nesting of structure B. lis called structure within structure.
C. Both (A) & (B) D. [None of these.
The struct is the same as a class except  that
A.  there are no member functions. B. jall members are public
55. — - >
C.  cannot be used in inheritance D. it does have a this pointer.
hierarchy
St or Q class oll Bl gold ¥ B 3 ..
aRual
uy, : :
A.  there are no member functions. B. |all members are public
C.  fannot be used in inheritance D. jit does have a this pointer.
hierarchy
Most appropriate sentence to describe union is
56 A.  |Union are like structure. B. [union contain members of different
) data types which share the same
storage area in memory.
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C.  |[Union are less frequentlyusedin ~ [D.  [Union are used for set operations.
program.

agetalet of 3 B Bol we dall Ao Bt ... 8.

A Union are like structure. B. [Union contain members of different
ug. data types which share the same
storage area in memory.

C.  |[Union are less frequently usedin =~ [D.  [Union are used for set operations.

program.
'Which operator connects the structure name to its member name?
57. A, B. |<-
C.  |{dot operator) D.  [Both (b)and (c).
sall wUR2R WU ol Blot & HHD 6R of T 3 B2
WA F B. |-
C.  |(dot operator) D. [Both (b)and (c).
Union is
58. |A.  mota group of variable. B. |a variable.
C. Both{(A) & (B) D. [None of these.
At ..... B
We. A7 Thota group of variable. B. |a variable.
C. Both(A) & (B) D. [None of these.
feof() indicates
59. |A. errorin file B. |end of file
C.  move to the beginning of file D. |move to desired position in file
feof0 . el B
1€ AT Ferror in file B. |end of file
C.  move to the beginning of file D. move to desired position in file
The file iostream includes
60. A.  [The declaration of the basic standard B.  [The streams of includes and outputs of
input-output library. program effect.
C.  Both of these D. |[None of these.

SLBCE iostream YRGS B,

0. |A. [The declaration of the basic standard [B.  [The streams of includes and outputs of

input-output library. program effect.

C. Both of these D. [None of these.

The contents of a file will be lost if it is opened in
61. (A, ‘a’ mode B. ['w’ mode

C. ‘w+’ mode D. [a+’ mode

SLBCAHIoL So2od £ UB WA D, Al o ....... HL aLSul@UHL <R,
1. A. ‘a’ mode B. ['w’ mode

C. ‘w+’ mode D. [‘at+’ mode

The fseek function
62. |A. eeds three arguments B. |makes the rewind function

unnecessary
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C. is meant for checking whether a D. [both (A) & (B)
eiven file exists or not
gisalet ook q
S A.  [needs three arguments B. makes the rewind function
unnecessary
C.  [is meant for checking whether a D. [oth (A) & (B)
given file exists or not
ftell is
A.  [is a function. B. |gives the current file position
03. indicator.
C.  can be used to find the size of afile. [D.  |All of the above.
- .o~ 7
ftell o A golo &
<3 A.  [is a function. B. |gives the current file position
' indicator.
C.  can be used to find the size of a file. [D.  |All of the above.
if a file is opened in w+ mode then
A.  after write operation reading is B. reading is possible
64. possible without closing and
reopening
C.  writing is possible D. |All of the above.
w+ HIsHL old stoe wlldiel oldet ot < o gotd as 82
A.  jafter write operation reading is B. reading is possible
S¥. possible without closing and
reopening
C.  |writing is possible D. |All of the above.
if a file is opened in r+ mode then
65. |A.  reading is possible B. |writing is possible
C. both (A) & (B). D. |all the above
r+ HISHL ot $I8e wl@iell oldet ctual < o gold as 82
S JAT Teading s possible B. [writing is possible
C. both (A) & (B). D. |all the above
The process of accessing data stored in a tape is similar to manipulating data on a
66. A. Queue B. [Stack
C. [List D. |None of these.
RUHL ol AL 86ct s Jat AL 1ol yEaw A ... el JaL uR sl &
e BRLURAR B.
A.  Queue B. [Stack
C. [List D. [None of these.
In the statement fprintf(fpt,”%n”,1), the variable fpt is a/an
67. |A. [Integer variable B. |Arbitrarily assigned value
C.  |Pointer to afile. D. Special kind of variable called file.
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fprintf(fpt,”%n”,i), WaHelS HL ol fpt YA o ... B.

59. A Integer variable B. |Arbitrarily assigned value
C.  [Pointer to a file. D.  Special kind of variable called file.
The function sprint() works like printf() , but operates on

68. |A. |Datainafile B. |stdin
C.  tderr D. Istring

i59lat sprint() 3 printf() o{l BH % Sl A 53 B UG oL T ... ol D UR U2 53

S¢C. 8.

A.  [Datain a file B. stdin

C.  stderr D. string

The function fopen (“filename™,”r”) returns

A.  [Nothing B. |A value 0 or 1 whether the file could
69. be open or not.

C.  |A pointer to FILE filename, ifitis |[D. |A pointer to new file after creating it.

eXists.
sL52lel fopen (“filename”,”r”) A -:\Z,:--:ZI-L-:Z'? leot U 52 B?
A.  [Nothing B. |A value 0 or 1 whether the file could

be open or not.
C.  |A pointer to FILE filename, if itis |[D. |A pointer to new file after creating it.
exists.

gete() function is used

70. |A.  to read string from file B. [to read character from file
C.  toread integer from file D. [to read from file.
oetc() Sisalel oll UL ........ 2 Ul B,

90. A foread string from file B. [to read character from file
C. to read integer from file D. [to read from file.
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